ERIKR (FHTERE)

6]

MBI AR - BIE

P ST SRR 304 B TR 294E JHE
X5y NN | BE (%) NN | BE (%) NN | BE (%)
ST 117 37.9 122 39.4 123 38.4
4 IR /A 24 7.8 10 3.2 22 6.9
ZTAVA 90 29.1 71 22.9 69 21.6
BLR « REFPRE - BRI 0 0.0 0 0.0 1 0.3
b 1 0.3 1 0.3 0 0.0
Z Dt 77 24.9 106 34.2 105 32.8
A& F 309 100.0 310 100.0 320 100.0
(2) AEEAHEH *ERKFOR, () WNITBIREHEEH (HAL - N)
FE| amouip RS04 TR 294F [ R aRoi SRR B04E TR 29 i
FEA (BR2EEARN) | CPRSUEEAR) | (ERBOEEAN [f2zs EREEAR) | CEMSUREEAR) | (ERSOFEEAR)
RS ERN 8 ( 6 16 ( 11 ) 9 ( 8 EIEZPN 4 ¢ 4 18 ( 12 ) 13 ( 12 )
L&l 22 ¢ 19 ) 24 ( 15 ) 26 ( 18 ) FHEBER 3¢ 3 ) 2 2 3¢ 2
HLE R 7 ¢ 7T 6 ( 4 5 ( 5 JEHE K 4 4 4 3 4 3
RERG R 32 ( 25 33 ( 26 ) 31 ( 26 ) BEEFREAR 22 ( 15 ) 18 ¢« 7 ) 20 ¢ 12
THEKR 6 ( 6 8 ( 5 ) 8 (8 )| EBREEHK 1 ¢ 1 ) 1 ¢ 0 1 ¢ 1 )
HRK 6 ( 4 7T 4 ) 8¢ 7T ) IR 5 ( 12 ) 16 (¢ 13 ) 13 ¢ 8
HRUMERE 2 ¢ 2 2 ¢ 0 2 ¢ 2 ) CTHTEK 71 57 67 ¢ 50 ) 56 ( 40
HRTEKR 1 ¢ 1 0 0 ) 1 ¢ 0 R 8 ( 6 ) 7 < ) 9 T )
—HER 1¢ 0 ) 0 0 ) 1 ¢ 1 ) HER « 0 13 ¢ 8 ) 13 ¢ 10 )
Friak 20 ¢ 16 ) 19 ( 18 12 ¢ 10 EADAN 32 ( 22 ) 49 ( 35 37 « 28
BPK 13 ¢ 11 15 (¢ 13 ) 10 ¢ 9 ) HOERE R 27 « 25 ) 18 ¢ 16 ) 29 ( 17
EA)=UN 3¢ 3 ) 6 ( 5 ) 3¢ 3 ) HUREERL R 2 ¢ 1 ) 2 ¢ 2 ) 2 ¢ 0 )
HHER 5 ¢ 3 4 ¢ 3 ) 3¢ 3 ) HOCERBLR 77 ( 65 ) 63 ( 43 77 « 56 )
NN 1 ¢ 0 ) 0 0 ) 2 1 L REEVN 37 « 26 ) 65 ( 51 27 ( 18
ELIEPN 3¢ 1 0¢ 0 ) 0¢ 0 ) AAK 46 ( 29 ) 32 ( 19 ) 39 ( 32 )
JUPN R 0¢ 0 1 ¢ 0 ) 0¢ 0 TEBOK 37 ¢ 30 ) 48 ( 37 ) 34 ( 27 )
& Ol 53 ( 40 41 ( 31 42 ( 33 EENEPN 54 ( 44 49 ( 30 ) 52 ( 42 )
[E S KF 183 ( 144 ,| 182 ( 135 )| 163 ( 134 ) CAEES 7PN 4 ¢ 3 ) 3¢ 1 8¢ 7 )
ARG TR R 2 2 0¢ 0 ) 3¢ 3 NLEK 16 ( 15 ) 12 ( 8 ) 15 ( 13 )
WL ERAERER K 0 0 0c¢ 0 ) 0¢ 0 ) BARHE K 37 « 27 29 ¢ 10 38 ( 28
IR R 19 ¢ 16 24 ( 24 ) 18 ¢ 16 C W 13 ¢ 8 8 ( 4 2 ¢ 1
AR K 3¢ 3 2 ¢ 1 ) 3¢ 3 ) SEAEE R 22 ( 13 ) 21 « 12 ) 10 ¢ 7 )
Z DA 17 12 10 ¢ 6 12 ¢ 11 Z DA 219 ( 148 )| 140 ¢ 93 | 117 ( 84
INERFEE 41 ( 33 ) 36 ( 31 ) 33 ( 30 ) ISV 756 ( 558 )| 685 ( 459 , | 619 ( 455 )
(3) HBEAKE L REEER
SERIbL Tk S04 Tk 294 i
B a$ 84.6% 81.3% 82.4%
Bt 75.5% 66.2% 67.3%
*  BIEAHE=FAREREFAHLEHX 100
Bkt = Ml e 4P EE X 1 0 0




